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NEW QUESTION 1
After the A record of a public website was updated, some visitors were unable to access the website. Which of the following should be adjusted to address the
issue?

A.TTL
B. MX

C. TXT
D. SOA

Answer: A

NEW QUESTION 2
A network technician needs to correlate security events to analyze a suspected intrusion Which of the following should the technician use?

A. SNMP

B. Log review

C. Vulnerability scanning
D. SIEM

Answer: D

NEW QUESTION 3

A network engineer performs the following tasks to increaseserver bandwidth: Connects two network cables from the server to a switch stack
Configure LACP on the switchports

Verifies the correct configurations on the switch interfaces

Which of the following needs to be configured on the server?

A. Load balancing
B. Multipathing

C. NIC teaming
D. Clustering

Answer: C

NEW QUESTION 4
A network engineer configured new firewalls with the correct configuration to be deployed to each remote branch. Unneeded services were disabled, and all
firewall rules were applied successfully. Which of the following should the network engineer perform NEXT to ensure all the firewalls are hardened successfully?

A. Ensure an implicit permit rule is enabled

B. Configure the log settings on the firewalls to the central syslog server
C. Update the firewalls with current firmware and software

D. Use the same complex passwords on all firewalls

Answer: C

NEW QUESTION 5
A network technician has multimode fiber optic cable available in an existing IDF. Which of the following Ethernet standards should the technician use to connect
the network switch to the existing fiber?

A. 10GBaseT
B. 1000BaseT
C. 1000BaseSX
D. 1000BaselLX

Answer: A

NEW QUESTION 6
A network administrator redesigned the positioning of the APs to create adjacent areas of wireless coverage. After project validation, some users still report poor
connectivity when their devices maintain an association to a distanced AP. Which of the following should the network administrator check FIRST?

A. Validate the roaming settings on the APs and WLAN clients
B. Verify that the AP antenna type is correct for the new layout
C. Check to see if MU-MIMO was properly activated on the APs
D. Deactivate the 2.4GHz band on the APS

Answer: A

NEW QUESTION 7
A network technician needs to ensure outside users are unable to telnet into any of the servers at the datacenter. Which of the following ports should be blocked
when checking firewall configuration?

A. 22
B. 23
C. 80
D. 3389
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E. 8080

Answer: B

NEW QUESTION 8
An engineer is configuring redundant network links between switches. Which of thefollowing should the engineer enable to prevent network stability issues?

A. 802.1Q

B. STP

C. Flow control
D. CSMA/CD

Answer: B

NEW QUESTION 9
A technician isdeploying a new switch model and would like to add it to the existing network monitoring software. The technician wants to know what metrics can
be gathered from a given switch. Which of the following should the technician utilize for the switch?

A. MIB

B. Trap

C. Syslog
D. Audit log

Answer: A

NEW QUESTION 10

An ITdirector is setting up new disaster and HA policies for a company. Limited downtime is critical to operations. To meet corporate requirements, the director set
up two different datacenters across the country that will stay current on data and applications.In the event of an outage, the company can immediately switch from
one datacenter to another. Which of the following does this BEST describe?

A. A warm site

B. Data mirroring
C. Multipathing

D. Load balancing
E. A hot site

Answer: E

NEW QUESTION 10
A technician is assisting a user who cannot connect to a network resource. The technician first checks for a link light. According to troubleshooting methodology,
this is an example of:

A. using a bottom-to-top approach.
B. establishing a plan of action.

C. documenting a finding.

D. questioning the obvious.

Answer: D

NEW QUESTION 11
An IDS was installed behind the edge firewall after a network was breached. The network was then breached again even though the IDS logged the attack. Which
of the following should be used in place of these devices to prevent future attacks?

A. A network tap

B. A proxy server

C. AUTM appliance
D. A content filter

Answer: C

NEW QUESTION 12

The following configuration is applied to a DHCP server connected to a VPNconcentrator:

There are 300 non-concurrent sales representatives who log in for one hour a day to upload reports, and 252 of these representatives are able to connect to the
VPN without any Issues. The remaining sales representatives cannot connect tothe VPN over the course of the day. Which of the following can be done to resolve
the issue without utilizing additional resources?

A. Decrease the lease duration

B. Reboot the DHCP server

C. Install a new VPN concentrator

D. Configure a new router

Answer: A

NEW QUESTION 16
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Which of the following is MOST likely to generate significant East-West traffic in a datacenter?

A. A backup of a large video presentation to cloud storage for archival purposes

B. A duplication of a hosted virtual server to another physical server for redundancy
C. A download of navigation data to a portable device for offline access

D. A query from an IoT device to a cloud-hosted server for a firmware update

Answer: B

NEW QUESTION 18
There are two managed legacy switches running that cannot be replaced or upgraded. These switches do not support cryptographic functions, but they are
password protected. Which of the following should a network administrator configure to BEST prevent unauthorized access?

A. Enable a management access list

B. Disable access to unnecessary services.
C. Configure a stronger password for access
D. Disable access to remote management
E. Use an out-of-band access method.

Answer: A

NEW QUESTION 22

A small, family-run business uses a single SOHO router to provide Internet and WiFi to its employees At the start of a new week, employees come in and find their
usual WiFi network is no longer available, and there is a new wireless network to which they cannot connect. Given that information, which of the following should
have been done to avoid this situation'

A. The device firmware should have been kept current.
B. Unsecure protocols should have been disabled.

C. Parental controls should have been enabled

D. The default credentials should have been changed

Answer: A

NEW QUESTION 27

A city has hired a new employee who needs to be able to work when traveling at home and at the municipal sourcing of a neighboring city that snares services.
The employee is issued a laptop, and a technician needs to train the employee on the appropriate solutions for secure access to the network from all the possible
locations On which of the following solutions would the technician MOST likely train the employee?

A. Site-to-site VPNs between the two city locations and client-to-site software on the employee's laptop tor all other remote access

B. Client-to-site VPNs between the travel locations and site-to-site software on the employee's laptop for all other remote access

C. Client-to-site VPNs between the two city locations and site-to-site software on the employee's laptop for all other remote access

D. Site-to-site VPNs between the home and city locations and site-to-site software on the employee's laptop for all other remote access

Answer: A

NEW QUESTION 32
A network administrator is installing a wireless network at aclient’s office. Which of the following IEEE 802.11 standards would be BEST to use for multiple
simultaneous client access?

A. CDMA

B. CSMA/CD
C. CSMA/CA
D. GSM

Answer: A

NEW QUESTION 37
Which of the following would need to be configured to ensure a device with a specific MAC address is always assigned the same IP address from DHCP?

A. Scope options

B. Reservation

C. Dynamic assignment
D. Exclusion

E. Static assignment

Answer: B

NEW QUESTION 41

Which of the following is the physical topology for an Ethernet LAN?
A. Bus

B. Ring

C. Mesh

D. Star

Answer: D
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NEW QUESTION 43
A technician is searching for a device that is connected to the network and has the device’sphysical network address. Which of the following should the technician
review on the switch to locate the device’s network port?

A. IP route table
B. VLAN tag

C. MAC table
D. QoS tag

Answer: C

NEW QUESTION 48
Which of the following routing protocols is used to exchange routeinformation between public autonomous systems?

A. OSPF
B. BGP
C. EGRIP
D. RIP

Answer: B

NEW QUESTION 53
According to troubleshooting methodology, which of the following should the technician dONEXT after determining the most likely probable cause of an issue?

A. Establish a plan of action to resolve the issue and identify potential effects

B. Verify full system functionality and, if applicable, implement preventive measures
C. Implement the solution or escalate as necessary

D. Test the theory to determine the cause

Answer: D

NEW QUESTION 57
Which of the following types of devices can provide content filtering and threat protection, and manage multiple IPSec site-to-site connections?

A. Layer 3 switch

B. VPN headend

C. Next-generation firewall
D. Proxy server

E. Intrusion prevention

Answer: C

NEW QUESTION 61
Which of the following is used to prioritize Internet usage per application and per user on the network?

A. Bandwidth management
B. Load balance routing

C. Border Gateway Protocol
D. Administrative distance

Answer: A

NEW QUESTION 63
An organization wants to implement a method of centrally managing logins to network services. Which of the following protocols should the organization use to
allow for authentication, authorization and auditing?

A. MS-CHAP
B. RADIUS
C. LDAPS
D. RSTP

Answer: A

NEW QUESTION 64

A branch of a company recently switched to a new ISP. The network engineer was given a new IP range to assign. The ISP assigned 196.26.4.0/26, and the
branch gateway router now has the following configurations on the interface that peers to the ISP:

The network engineer observes that all users have lost Internet connectivity. Which of the following describes the issue?

A. The incorrect subnet mask was configured

B. The incorrect gateway was configured

C. The incorrect IPaddress was configured

D. The incorrect interface was configured

Answer: A

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version N10-008 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/N10-008-dumps.html (201 Q&AS)

NEW QUESTION 68
Which of the following is a system that is installed directly on a server's hardware and abstracts the hardware from any guest machines?

A. Storage array

B. Type 1 hypervisor
C. Virtual machine
D. Guest QS

Answer: A

NEW QUESTION 70
A network administrator wants to improve the security of the management console on the company's switches and ensure configuration changes made can be
correlated to the administrator who conformed them Which of the following should the network administrator implement?

A. Port security

B. Local authentication
C. TACACS+

D. Access control list

Answer: C

NEW QUESTION 73
A company that uses VoIP telephones is experiencing intermittent issues with one-way audio and dropped conversations The manufacturer says the system will
work if ping times are less than 50ms. The company has recorded the following ping times:

Which of the following is MOST likely causing the issue?

A. Attenuation

B. Latency

C. VLAN mismatch
D. Jitter

Answer: A

NEW QUESTION 78
A new cabling certification is being requested every time a network technician rebuilds one end of a Cat 6 (vendor-certified)cable to create a crossover connection
that is used to connect switches. Which of the following would address this issue by allowing the use of the original cable?

A. CSMA/CD
B. LACP
C. PoE+
D. MDIX

Answer: D

NEW QUESTION 81

A company built a new building at its headquarters location. The new building is connected to the company’s LAN via fiber-optic cable. Multiple users in the new
building are unable to access the company’s intranet site via their web browser, but they are able to access internet sites. Which of the following describes how
the network administrator can resolve this issue?

A. Correct the DNS server entries in the DHCP scope
B. Correct the external firewall gateway address

C. Correct the NTP server settings on the clients

D. Correct a TFTP Issue on the company’s server

Answer: A
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NEW QUESTION 82
A user tries to ping 192.168.1.100 from the command prompt on the 192.168.2.101 network but gets the following response: U.U.U.U. Which of the following
needs to be configured for these networks to reach each other?

A. Network address translation
B. Default gateway

C. Loopback

D. Routing protocol

Answer: B

NEW QUESTION 85
Which of the following is the LARGEST MTU for a standard Ethernet frame?

A. 1452
B. 1492
C. 1500
D. 2304

Answer: C

NEW QUESTION 87

A user reports a weak signal when walking 20ft (61 m) away from the WAP in one direction, but a strong signal when walking 20ft in the opposite direction The
technician has reviewed the configuration and confirmed the channel type is correct There is no jitter or latency on the connection Which of the following would be
the MOST likely cause of the issue?

A. Antenna type
B. Power levels
C. Frequency

D. Encryption type

Answer: A

NEW QUESTION 88
An IT organization needs to optimize speeds for globalcontent distribution and wants to reduce latency in high-density user locations. Which of the following
technologies BEST meets the organization’s requirements?

A. Load balancing

B. Geofencing

C. Public cloud

D. Content delivery network
E. Infrastructure as a service

Answer: D

NEW QUESTION 90
Access to a datacenter should be individually recorded by a card reader even when multiple employees enter the facility at the same time. Which of the following
allowsthe enforcement of this policy?

A. Motion detection

B. Access control vestibules
C. Smart lockers

D. Cameras

Answer: B

NEW QUESTION 93
A network administrator is downloading a large patch that will be uploaded to several enterprise switches simultaneously during the day's upgrade cycle. Which of
the following should the administrator do to help ensure the upgrade process will be less likely to cause problems with the switches?

A. Confirm the patch's MD5 hash prior to the upgrade

B. Schedule the switches to reboot after an appropriate amount of time.
C. Download each switch's current configuration before the upgrade

D. Utilize FTP rather than TFTP to upload the patch

Answer: C

NEW QUESTION 97

A network administrator is implementing OSPF on all of a company’s network devices. Which of the following will MOST likely replace all the company’s hubs?
A. A Layer 3 switch

B. A proxy server

C. ANGFW

D. A WLAN controller

Answer: A
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NEW QUESTION 100
A technician is troubleshooting a previously encountered issue. Which of the following should the technician reference to find what solution was implemented to
resolve the issue?

A. Standard operating procedures

B. Configuration baseline documents

C. Work instructions

D. Change management documentation

Answer: A

NEW QUESTION 103

A network technician is investigating an IP phone that does not register in the VolP system Although it received an IP address, it did not receive the necessary
DHCP options The information that is needed for the registration is distributes by the OHCP scope All other IP phones are working properly. Which of the following
does the technician need to verify?

A. VLAN mismatch

B. Transceiver mismatch
C. Latency

D. DHCP exhaustion

Answer: A

NEW QUESTION 108
A workstation is configured with the following network details:

Software on the workstation needs to send a query tothe local subnet broadcast address. To which of the following addresses should the software be configured to
send the query?

A.10.1.2.0
B.10.1.2.1
C.10.1.2.23
D. 10.1.2.255
E.10.1.2.31

Answer: E

NEW QUESTION 109

A wireless network was installed in a warehouse for employees to scan crates with a wireless handheld scanner. The wireless network was placed in the corner of
the building near the ceiling for maximum coverage However users in the offices adjacent lo the warehouse have noticed a large amount of signal overlap from the
new network Additionally warehouse employees report difficulty connecting to the wireless network from the other side of the building; however they have no
issues when lhey are near the antenna Which of the following is MOST likely the cause?

A. The wireless signal is being refracted by the warehouse's windows

B. The antenna's power level was set too high and is overlapping

C. An omnidirectional antenna was used instead of a unidirectional antenna
D. The wireless access points are using channels from the 5GHz spectrum

Answer: A

NEW QUESTION 113
The network administrator is informed that a user's email password is frequently hacked by brute-force programs. Which of the following policies should the
network administrator implements to BEST mitigate this issue? (Choose two.)

A. Captive portal

B. Two-factor authentication
C. Complex passwords

D. Geofencing

The Leader of IT Certification visit - https://www.certleader.com



CertLeader® 100% Valid and Newest Version N10-008 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/N10-008-dumps.html (201 Q&AS)

E. Role-based access
F. Explicit deny

Answer: BC

NEW QUESTION 115
Which of the following ports is commonly used byVolP phones?

A. 20
B. 143
C. 445
D. 5060

Answer: D

NEW QUESTION 116

Which of the following security devices would be BEST to use to provide mechanical access control to the MDF/IDF?
A. A smart card

B. A key fob

C. An employee badge

D. A door lock

Answer: B

NEW QUESTION 119

At which of the following OSI model layers would a technician find an IP header?
A. Layer 1

B. Layer 2

C. Layer 3

D. Layer 4

Answer: C

NEW QUESTION 122
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